BEATMILT PAoE 6 R 1254 3305 65 EL WA T EHHA SR T L

fe~ EMBRLIbERRREENE

aso

1025.5

|
T

e

51755

849

) S S ¢ P 9
bttt
I

l | I

N
!

aaaaa

EREEA

REM 250600 48 #
NEAL 225%575 15 #

6-5 T =/ & B (S=1/300)




BATHIET PR S G& 1254 3% 65 £ LM T EMEAGRA TR B B LB A RRENE

i e 6025 3135 549 5225 817

A s e 30 100000 13

BT EaE 64 > 231426325 0K

IR | 271 %40 4253 * 4= 11652000 ey () TOHx1TH 122 %@

LSS e e e o w1s | eses | w | e | T T w16’
+ ? 5e22 g ST BRI : 253660 * 5 =12683.00 < L1852+ 163994 = 13491 4af ., OK
5) 5 5 ) N ™ o ' B 6-6 ¥ T — & F @R (S=1/300)

bR IR B A IR

/ S 5 2 @
// ? (? ® B ) s (? ? ? E 8 ;D‘- ; ]
531 685 567.5 900 ) 562 8485 757 620 5 o g
__/'i +7 + & #“ + + + g03  Loooo | SOTSZ 27 056 (3N _ 5195
—* | = .
| | ~ | | e ! :
| | e == bl ol 2 i 04
' : & g5 & )
J T - Ll “:.: = =
O——4¢ — - " g g i :
} - 5y 3955 | 2 1462 13395 27741 3 g
! X s B T~ =
| /. S| 590 & 11395
; | 5 BERESR SR
[=1 n o
2| | g P wez B 5 // / s _
| ~. —HEER 2
l 7, . - g
lerd] e 5875 275 5225 -
! K - l‘ / / = s
] ' 1 3681.6 17295
: © 517 o il
| 8 BESEEE , i ,_F ol 5 B 8 i 5
=4 o - o al
i [ 1 F sa75 | | 1097 g -g 2 o =
' ! o ) D1 o =]
j — ) o 245| 588 B95.5 3995 [250[ @ 4557 -
f — ~ . @ 0 i) g
1 I o i -
' ‘ ~ ] LB 2 o 2
ﬁ N, 1 1 ALy
_ﬂ[_. —al E A t; ! 290 14375 13215 667.5
& 865 = N S ' — TR T
o N
= 2 | = LT b - ; = | | BESHUET ERIER)
= = i { ~~ — & —¢ Vi | ' 2 1 16945 * 8525429 ¥ 6225+ 12 * 241037 * 494 245 * 275+ 586 * 21542175 F 195 +
1 = = | E R S ol A = i | 168 * 36816+ 13.5 * 17295+ 8.965 *72+3995 74425 26+ 672 * 335+ 217" 165+ 455
| ] AR w |7 o — L 405 46,675 * 2375+ 1238 * 14,62+ 275 * 9+ 5,875 * 2125+ B.17 * 8125+ 8.675 * 11395 + 11975
| 5 o | e e T = i | i #59+62 %5195+ 13395 ¥ 12955+ 2T7L * L1775+ 4.949 * 4,156 + (3558 * 49497/ 24 (4156 *
i 137 E 2 | i) | ' 4156)/2+ 835 * 04 = 1977.18 "
. =] o = _‘E“L | | '1 \ @54 1197708 0
156 7 {2 o w4 EE
4| e M s [ SLIR SR TN RLE L i = & X R AREE A
e e 11 ] g | 21 ;766025409 ¥ 5.995 4 3135 * 44274 * 5,775 4 5225 * 8,125 + 603 * 8.98 + 6,675 * 1105 4
] e ik s N i R x| = | 13215 * 6025+ 14375 * 6235+ 5.9 * 3L+ 217 * 24+ 25" 48+ 5375 49412729+ 245 *445
93 ae | 2w el % 1 e g Lo n +5.86* 505+ 3855 * 434 2175 % 235 + 3135 * 2375+ 5,49 * 2.6 = 56275 1f
I 132 2L 2z 27 240 = 70 : = | ! EF 55275
! oL Lo fod i X . J— . i i
[t1] = = = = . I = @ l z
o | sl - = = 5 1977.18456275 =2539.93m
) T=al { | = i :
—¢ — —p= — 1 = - = | [ TR
! s | i 1 2l s 2= 1w e @ . FRE SR, 2539.93 4256.01 * 100% = 59.68% < 70.00%..0K
| u &5 120 e i 7 L= A [ “[1 » n EI ]
Al aL o 2 Z = » !
f \' % LI - E = 0 ¥
' D#s i s [ . | I BIF | B2F | &F| BeF| B5F | Jwt
-—a._ = | . T s ] oua 0 “@ J
| \ | N* L = i | ALY 250V600 12 48 | 48 | 48 | so | 26
K il 5 il L ! 1
: SN i | o | Arasosrs |6 | s | s | we]| 15| e
i i Ly o, 5 ; - =
& } N S Ty ; | hNH w | | e | | s|am| | %iﬁ-‘ﬁ'fﬂ
ey L (+i§
5 e < & K| ] g
s 2 — .L;_ | 1004200 | 128
10 i Pass WA wo [lue | +u¢m T FBEE T : E X /fﬁ- ﬁ‘}ﬁl
1' ) L Wi g © ' ANMSEE 754175 125 gkt T
2y LB e L e § PR i g ETETER i P e,
1
7 o W L8 13216 | 8878 l g B 253 \ k-%—’fﬁ- 25 OXBOO ].2 $ﬁ
L3l L0 |29} |
ue s w3 i s
e S ] gomy soao | e
NEAx 225x575 6 %@




BETHIT P B 6 B&R 1254 3R F 65 E Ll T B M HAI SR EZ

B EMAEIERAREENE

e e ——
G aATE 2L HEH
.y i m‘
1!‘ -
e 19
_ g TF
BIFL
Qe 1
¥ & E S=1/30
FTERTR S
B2 PSRBT S, 0
20)
oh
Al
71T ©
5 = . fi—
E\% ! 7 445
) - ﬁé _ e
E ‘ '
T il | % R
M_ e - \ E
o l ) +45 1
I ‘ w7 -E T’—'@
£ o
St il & L 445 | 8
= Ene 250+
J C M\ -
AR B N PR =310 ]‘% Kh
(3EEHE) (ERERE =) 5 ’
445 +45 || +45 / =
/\ \w - :‘®
(- 1ag K- J W - “ I S RV I S RN I AR
g D 25% 250 - 7
S AT 0] T F
%—-D/m : 838 T “gouE & t“” = £ T
=5 él;m =) B T B6-7 — /& F & B (S=1/300)
® ® © | ez O

SR IR A IR )




AT LT P E S G54 1254 335 % 65 £ LHA T EMEH GRS TR

M BEHALERREBRENE

3475 1085
8
- 315 b
— = L 1 :_
T
i  § I
Liite
I
2 ﬁ l OGS M ﬁ
,LQU-WP’S
R ~
e[ "
b
1 | 6.3
g
g w
&
™
145|% g
2
= QJ 971 685
g f
" 'J"-l ' o
s 1
i y—LﬁfI = lz —rﬂjﬁ"—Lg
4775 195
5
w L b
8.55

914

0. o &
g g ]‘ | 1 1=
< 2 “HT 3 1 ;
5 Bbt g 2 g
8 = | s s
of ] 24 3 315
- a70d | 1
™ 1 ) ¥ |
11 118 ‘-I' ]l — g
s 195 »
\ 6.6
@,
@
0 ¢ Wi W 35 872 705 A
o 471 /0 A
— T ke / Q Q‘é
BB &4 N LA B TR
1199.58+161.04+1.15+29.81 @2@@3{ 93=153097 m* |49,‘TT+I5?.9!+169.56+l$0.90¥£+169.56>Q+140.69:6+93.54@=3294.?8m’
S (21595.50-(133.28+74.22+119.05))x15%=3190.34m*

[skariat it oy

67.74m* < 153097 x 10% m; §-’
PEETRA QR
16L04m*> 153097 % 10%=453.1 Y
161.04 - 153,10 =7.94m (& Al
[ER=Re Sl it o i
£7.74+152.80=220.63m" < 1528.85 x 15%= 229,33
Bttt ol

20.81467.69+25.21+19.1347.93 =149.77m*

e Pt ey

1151 x 6.0 = 69.06m*

AT

107.99m*

R

8372

W BRI 153097m*
R R
1530,97-161.04-149.77-69.06-107.99-83.72 +7.94=067.33m"

3204.78-3190.34=104 M4m?(F AL T FEHUHRED)

SRR
1530.97+179.7741437.25+1426.64x3+1426.65%B+1066.04:6+807.82x2=26852.99 m*

LA ERR
067,33+170,77+892.14+1175.31x3+1167.60x5+1172.31x2+1168.62
+864.80x3+872.23:3+663.21+681.08+1(4.44=21596.95m°

—— i PR R

I

JEHI01 : R65 * 6.3 =54.50 m*

EEHE02: 281 * 1.1+ 7.55% 8 = 6349 m?

FEHI03 : 6.62% 5.7 =31.73 m?

FEH04 1 7.17 * 7.855 + 1425 * 352 =61.34 m*
FEHR05:5.12%3 4 7.27* 53 + 687 * 085 =59.73 m*
JESR06:4.775% 3+ 6,65* 6.15 =552 m*
JEHIDT:3.05% 16424 1.6 +072 %25+ 8556375 =65.19 ®
JEHHOR 5,095 % 3.154 3.495% 3 + 24 % 5095 =38.76 m”
FESE09: 1.95% 36+ 66* 59 =4596 m*
FE$#610:7.05*53 =373 m?

FESTIL :6.72% 7.6 = 5007 m*

AR 045 % 471 +14 %773+ 10,16 * BA5+23 %4 = 10799 m*
AEIEEE ZE I — (B R REEE) : 692 9.525 4+ 3.335 * 0.275 + 4.105 * 8875 =133.28 m®
AIEBRRA TR 3645 %6154 194 742+ 575 4225+ 27 * 497 =T4.2m*

AT S (EIIERE) 62 % 275+ 9.14 * 1116 = 11905 m*
AL R RADU (RSN ): 3.22 % 3285 + 6.27 * 385 =347 m*
ENAERNTZE 1 3.02% 6.64 4 7.94% 691 =76.25 m*

BURTER :8055% 071+ 1 * 2335+ 0.6 105+ 145% 175 =832 m®

A 1199.58 m®

SIETRG

RESH01 1 2% 2175+ 0775 * 0375 =4.64 w°

HEH02: 1,175 * 5.19 =610 m®
IESH03: 1.6 1.5+ 14255265 =6.18 m’

HEHN04: 1544335 =650 m?

EHI06: 3% 1.95 =585 m®

FEHI0T 3% 1675 =503 m”

[EHE0R : 2% 1,675 =503 m?

SR RZEM 045% 15+ 111 ¥ 1925+ 2% 12.8 =284 m®

i 6774 m®

FoR
ABH:305% 445 =13.5T m*

Biffi: 268 405+2.21 *3.82+ 1.8% 1,935+ 0.45* 1,375 + LIS * 217+ 223 * 095+ 2.6 * 3.6 =30.54 m*

Chfi: 6,51 * 575+ 3.16* 46 =5197 m

Difi : 2425 * 2888 + 0425 % 24 + 5775+ 255+ 04 * 113 = 2320 m*
Efi:235424 =564

Fifll: 3,35 % 2075 + 2.275 * 2+ 265 % 5425 =2543 m*

et 161 m?

AR 2mEDER
Fhi{: 1095 % 1.05 = LI5m®

115 m?

Lkl

Bl 12,59 %235+ 262*3.22 = 1452 m?

Fif:3.05% 05+ 3175 % 1825+ 1095 * 1,275+ 229 % 2.85 = 1529 m*
e 2981 m?

et

ARI:237%1.9354037%1.33+ 147221 =R17Tm*
Bii: 14220 +0372095+ 1935 %307 =939 "

Cifi:13%1.05+38%50+ L11 *0.85+3.13% 1854072 L13+072%° L13+(0.72*0.72)/24 (072% 072 )/2 =32.66 m”

Difi: 2725 % 486+ 14 * 302 = 1747 m*
SR 67.60 m®

SRR

A 133%24065* 215 +007%2.2] +3.65% 2554 1825 285+ 1.8 % 2.5 =2521 m*

e8et: 2521 m?

iy ind
AB:27%25 =675’
Citi : 245+ 255 =625 "
Digi: 259245 =6.13m*

1903 m*

vt

Abi:215%235 =505m*
Bifi:217%24 =521 m*

EdH:2]1%235 =494 m”
Fif:2115%2 =423 m*

g 1943 m?

AN

AR 055%1.65 =091 m?

B#t: 055 % 1.65 =091 m*
Dig:04*1+076%2454 077523 =44 m”
Fi#fi:1.035%2 =20Tm?

k793 m?

bR TR A A IR E)

[x11e ez HI[| z162 smiseses

HH x162 sstmmme [ z162 it

2119 mim [ 2162 rtmmppms

[z [ 2162 miema
) e

2162 (] 2284 2 emmszens

2162 /NHA2MIES

@2162 B

B6-8 — & @kt A B (S=1/300)




BATMETPIEE TR 1254 3R % 65 E LT E A St 2

M~ Bt A REESE
P g
/ \Hk
4 ? ?
x 5422
ﬁﬁ—/ ? 585 5875 + GP 8495 (IE-) 757 (? 620
__/ < I ? ?
' | | | e | | [, e o
I ot P 3 ™o —ams |
O_MI _— - N
. ~
| =
. | I Sl I
§ I o1 R"H‘M g
! brs 'Hmhiﬁﬁﬁ s
o - - — t
|I ‘l i §I;—1:-I__I E§ 314 |1875
wy i i g
§ i I I I i ajs  haod 314 %
| - - — - o
| '| ! e
oo 3 - — 5| | |
I ‘ ] ] frgeec
L | = = il | |
w0 I o - ] T _®t
@E I Y I I 035
Nl g — ! ! 2
T I>|su|s l | *
| | AR I -
a! A | I 'M_q
—_ L o ' EI.
o I ! g I __w___—I_u_
o _Q_f_ e LY. — = — _ m
| I IV Iﬁ I E 822 = (25
§ I & KJI.I. | ot T‘ I & bzl
oh % il N
I LI ] | I 2675
i i 2 | m=
2 I o ' JESH01 : 4.355 ¥3.775 = 16.44 m?
©—9— - - : = Ia—— I FES802: 2.81 * 337+ 5.19 * 2.2696 = by
! I | 803 : 0.9496 % 0.95 + 3,695 * 2.855 =
o 2 B 45 m?
1B :I JESH04 ; 5.85 *3.495 = 20.
i i ! JAE&H05 : 215*1205+3?95*420<+1325*1U75—19971::
®—o-d — eg = = ey — = \ —loe | rEm06:066% 2.5+ 51308 % 4375 + 1875 % 1375 = 1800
I I | JESH0T : 1.735 * 0.865 + 0.66 * 0.66 + 1.84 * 0.875 + 2.855 * 5.475 = 19.18 m?
]' I = I JESHO8 : 2.89 * 3.46 + 0.3504 * 0.6604 = 10.23 m?
| | | I | | I I I i JE#H09:095% 1.03+2.3%2.375+ 24 %36 = 15.08 m?
free e e E _?1__%__i_-_*m__I__?sﬁ___?-_?;w___;__69;_5__¢__?;.___;___62___£ _____ .T__J I__ JES810: 1.325 % 0.975 + 2.575 * 4.325 = 1243 m?
+ - : FESE11: 672 % 2.275 = 1529 m?
! = R tEt 17977
@ é) I I =R Jim

R IRBE WA R E)

B6-9 & -F& & (S=1/300)




BITH LT PE S T 1254 W38 % 65 E LM T EMEANGFHRASTE

M~ BN LMERARENE
I/ -
7 \Hh
/ ® Ty
: ik ? @ O~ P2 9 i T
Tiﬁ—g 531 585 5875 + 900 ~ 592 849.5 + 757 + 620
- ="
~ L
| ' | | ' T~ | | |
| \ T I ‘\\l | ‘
@—é—é—!—— — - o 5\‘\
! | ! | P EEAE | | "\_h“! l
§| w5 %0 L] hxmm
! E zn H ew || o Be -H“"‘**\E ?ﬁﬁ
@F“’J,‘ - EP i - = - - | y
j N " ! !
i il g o
! - - - —
[ px | ox|ws| =8 | zm | sz | o ! i
i » 1
G)——alr — S | AR wor || !§ !
| 1 |
£ ’”'I | £ UL e [ oz me i 'l
] == S _+_®|
! &0 ] !
T s
i N 5
: 1
i |
| N T
|

@
4 3
,
o™
EEE F
1

Teo | T T
MR
6-10 =& -F& & (5=1/300)

o LA AR Bt A TR 2> 3)




